
1-6 83 67 50 33 17 0

1) 34×49 = 2) 32×25 =

3) 34×35 = 4) 39×42 =

5) 37×43 = 6) 45×34 =

1. 1 666

2. 800

3. 1 190

4. 1 638

5. 1 591

6. 1 530
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Ключ к  правильным
ответам

1-6 83 67 50 33 17 0

1) 34×49 = 2) 32×25 =

30

40

4

(30 × 40)
1 200

(4 × 40)
160

(4 × 9)
36

9

(30 × 9)
270

30

20

2

(30 × 20)
600

(2 × 20)
40

(2 × 5)
10

5

(30 × 5)
150

3) 34×35 = 4) 39×42 =

30

30

4

(30 × 30)
900

(4 × 30)
120

(4 × 5)
20

5

(30 × 5)
150

30

40

9

(30 × 40)
1 200

(9 × 40)
360

(9 × 2)
18

2

(30 × 2)
60

5) 37×43 = 6) 45×34 =

30

40

7

(30 × 40)
1 200

(7 × 40)
280

(7 × 3)
21

3

(30 × 3)
90 40

30

5

(40 × 30)
1 200

(5 × 30)
150

(5 × 4)
20

4

(40 × 4)
160

1. 1 666

2. 800
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5. 1 591

6. 1 530
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